Answer on Question #45190 — Math - Statistics and Probability

Problem.
The sales in a two wheeler showroom is exponentially distributed with mean equal to 4. If two
days are selected at random, what is the probability that
a) on both days the sales is over 5 units b) the sale is over 5 units on at least one of the
two days.

Solution.

The probability density function (pdf) of an exponential distribution with mean 4 is
X

e 4
f)={—7 x*=0

0 x < 0.
The probability that on one day the sale is over 5 units equals
X
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The probability that on one day the sale is below 5 units equals
1—0.287 = 0.713.
a) The probability that on both days the sales is over 5 units equals

P(ANB) =0.287% ~ 0.082.
b) The probability that the sale is over 5 units on at least one of the two days equals

P(AUB) = P(A) + P(B)—P(ANB) =0.287 + 0.287 —0.2872 =1 — P(AN A) = 1 — 0.7132

~ 0.491.
Answer: a) 0.082, b) 0.491.
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